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Answer1

The diagram shows a prism.

Diagram NOT
accurately drawn

4 cm

7 cm

2 em 10 cm

cm N e
’ Vorume OF P :

Work out the volume of the prism.

V= Rugade Cross- ceemion ~ LENETH
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Answer 2

Here is a plan of Martin’s driveway.

Diagram NOT
accurately drawn

< 1I'm >
Martin is going to cover his driveway with gravel. CUEO 1
The gravel will be 6 cm deep. NB ON I
Gravel is sold in bags. — V = LrxrH

There are 0.4 m* of gravel in each bag.

Each bag of gravel costs £38 GCM =0 'OGM

Work out the total amount of money Martin pays for the gravel.

Martin gets a discount of 30% off the cost of the gravel. /
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Answer 3

Here is a cuboid.

Diagram NOT
accurately drawn
1.5 em
1.5cm
6 cm
The cuboid is 6 cm by 1.5 cm by 1.5 cm.
Work out the total surface area of the cuboid. /ﬂ(’ faé_ ,ﬂcg
= —
¢ ectmouse /S QUALE
. I-S
[
D B Ao (e

1ol & P T

S s -

G

d
>

le ¥ LEANGLE + Ux S@uite

4 « xS + Ux(Sxt§

1\

= 405 "

—-_——

For more information please visit https.//www.exampaperspractice.co.uk


https://www.exampaperspractice.co.uk

EXAM PAPERS PRACTICE

Answer 4

Diagram NOT
accurately drawn

10 cm

The diagram shows a prism.

The cross-section of the prism is an isosceles triangle.

The lengths of the sides of the triangle are 13 ¢cm, 13 ¢cm and 10 cm.
The perpendicular height of the triangle is 12 cm.

The length of the prism is 8 cm.

Work out the total surface area of the prism.

Total surface area of the two triangles (1) + SA of the two rectangles (2 ) +
the SA of the base (3)

Area of a triangle is 0.5 x base x height : 0.5 (10) (12) = 60

Area of rectangle is width x height : 8x 13 = 104
SA of base : 8x10 = 80

Total SA = 2(60) + 2(104) + 80 = 408
408 i

... CM”
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Answer5

The diagram shows a solid cylinder.

g 0 ; 11 em™ Diagram NOT
Mo, = T accurately drawn

30 cm

- -

The cylinder has a height of 30 cm and a radius 11 cm.

(a) Work out the total surface area of the cylinder.
Give your answer correct to 2 significant figures.

Surface areaof 1 + 3 :
2rr =2 (11)(11) = 242n
Area of 2:

Circumference x height

2mr x h = 2mn(11)(30) = 6601

2 + 183 = (660 + 242)r = 902m
.. 2800(3sf)

\ ...cm?
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Answer 6

Diagram NOT

m §35cm accurately drawn

8.2 cm

A solid cylinder has radius 3.5 cm and height 8.2 cm.

Work out the total surface area of the cylinder.
Give your answer correct to 3 significant figures.

Area=1+2+3
1&3 are equal
T

n¥= n(3.5)=12.25
Area 1 + 3 = 24.5m

Curved area = 2mir h
2m (3.5)(8.2) = 57.4n

57.4n + 24.51 = 257 (38f)

For more information please visit https.//www.exampaperspractice.co.uk


https://www.exampaperspractice.co.uk

;=

EXAM PAPERS PRACTICE

Answer?7

A sphere has a surface area of 817 cm?.
Work out the volume of the sphere.
Give your answer correct to 3 significant figures. v

Surface area of a sphere = 4 r'

81n= 4nr
[81/4 =r
r=9/2

Volume of a sphere = 4/3n -
4/3 (M)(91.125) =381.70... = 382(2sf)

.-

. cm?
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Answer 8

Diagram NOT
accurately drawn

<«—7cm—p

The diagram shows a solid prism.

The cross section of the prism is a trapezium.

The lengths of the parallel sides of the trapezium are 11 cm and 7 cm.

The perpendicular distance between the parallel sides of the trapezium 1s 10 cm.
The length of the prism 1s 12 cm.

(a) Work out the area of the trapezium.

Area of a trapezium is half (a+ b) x height

1/2 x (7+11) x10 =90 N0
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Answer 9

A cylinder has diameter 12 cm and length 30 cm.

Diagram NOT
‘//_\ accurately drawn

30 cm

o

Work out the curved surface area of the cylinder.
Gi1ve your answer correct to 3 significant figures.

Curved surface is equal to circumference x height
Circumference =[7 x Diameter = 1217
Height = 30

121 X 30 = 360TT= 1130.97
" 1130 (3sf) ;

,,,,,,,,,,,,,,,,,, . cm-
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Answer 10

. Diagram NOT
T accurately drawn

3.7 cm

A solid cylinder has a radius of 5.1 cm and a height of 3.7 cm.

Work out the total surface area of the cylinder.
Give your answer correct to 3 significant figures.

(D = Nt
@{-65: an:l = ZniEY

ST D
@:(znr},(}\ = ;i)
(00l 16342 + 1I{%¢.
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Answer 11

The diagram shows a prism.

Diagram NOT
accurately drawn

25¢cm

The area of the cross section of the prism is 30 cm?.
The length of the prism is 25 cm.

Work out the volume of the prism.

Vorume Oe Peiem

V'= RueaOe Craoss - getion x LENGTH
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Answer 12

Here is a triangular prism.

Diagram NOT
accurately drawn

4 cm 20 cm

3 cm

Work out the volume of this triangular prism.

Ai ﬂv@é;‘% - f_!z_xg b = 6o
Posm . [ = 6~ 20
= leW\z

Veram

Vorome = Aeern 0 Croscl ez Tiard » L aTH
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Answer13

Diagram NOT
“ accurately drawn

The diagram shows a hemisphere with a diameter of 18.6 cm.

Work out the volume of the hemisphere.
Give your answer correct to 3 significant figures.

Volume of a sphere =4/3 1t r s
Therefore volume of a hemi sphere =2/3 i r

2
2/3 11 (9.3) = 1684.6....

3
=1680(3s) - 1680(3sM)

cm?
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Answer14

(b) The height of the cylinder is 30 cm, correct to the nearest centimetre.

(1) Write down the lower bound of the height of the cylinder.

(11) Write down the upper bound of the height of the cylinder.
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